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Part I —- READING COMPREHENSION - Read the following text and answer questions 1 to 10.
WOMEN'S BOXING TO BE INCLUDED AT LONDON 2012

The International
Olympic Committee (IOC)

boxers with gold medals at the recent EU
Championships is larger and this can only improve

has approved to include 20 Great Britain's medal prospects at the 2012 Games".
women's amateur boxing Women are going to fight in three weight classes as
5 at the London 2012 part of the 2012 Olympic programme. The
Olympic Games. Because International Female Boxers Association began in
the popularity of the sport [ February 1997. It is going to host the second world
has grown considerably in 25 title fights in Seoul, South Korea, in October.
recent years, the IOC has Boxing is a British sport. The Marquess of
10 decided that there is going Queensberry established the rules in 1865. In the
to be a competition in the capital in three years' UK, boxing is both amateur and professional,
time. and the Boxing Association of England applies strict
Rebecca Gibson, the National Women's 30 medical regulations in both.

15

Boxing Development Manager at the Amateur
Boxing Association of England, commented: "The
decision reflects the increasing popularity of
women's boxing at every level. The number of

I - UNDERSTANDING THE TEXT

1. The main idea of the text above is to show that:
a) women are better than men at boxing.
b) women'’s boxing is now in the Olympic Games.

2. The text above says that:
a) boxing is not a popular sport for women.
b) women'’s boxing is getting more popular.

3. Choose the CORRECT alternative according to the text.
a) The first women’s boxing championship is going to be in 2012.
b) Rebecca’s expectations for women’s boxing are good.

¢) Women'’s boxing in London is only amateur.
d) Women'’s boxing is not popular nowadays.

Adapted from: http://www.viewlondon.co.uk
and www.woodlands-junior.kent.sch.uk

¢) women'’s boxing is only popular in London.
d) there are more women than men at boxing.

¢) boxing became popular in London in 1997.
d) men’s boxing is losing popularity.

4. Choose the INCORRECT alternative according to the text.
a) Great Britain has great chances for medals in 2012.
b) England is concerned about boxing medical regulations.

II — REFERENCE

5. The pronoun ‘it’ (line 24) refers to:
a) the 2" world title
b) Seoul

6. The pronoun ‘this’ (line 19) refers to:
a) The bigger number of boxers with gold medals.
b) the Amateur Boxing Association of England.

III - VOCABULARY
7. The word ‘increasing’ (line 16) means:

c) Many boxers have won gold medals recently.
d) IOC did not decide to include boxing in 2012.

c) the Olympic programme

d) the International Female Boxers Association

c) the EU championships.
d) the possibility.

a) inferior b) large C) growing d) demanding
8. The word 'strict’ (line 29) means:

a) restricted b) straight c) limited d) rigorous
9. The word ‘and’ (line 19) states in the sentence the idea of:

a) contrast b) addition ¢) alternative d) condition
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10. The sentence ‘In the UK, boxing is both amateur and professional’ (lines 27 and 28) means:

a) Boxing is only amateur and not professional.
b) Boxing involves none of these categories.

PART II — USE OF ENGLISH

¢) Boxing is only professional.
d) Boxing involves these two categories.

For questions 11 to 20, choose the option that CORRECTLY completes the sentences.

11. China has the population in the world nowadays.
a) more large b) larger

12. My brothers are going to come to Brazil
a) next Friday b) last Friday

c) most large d) largest

) two days ago d) yesterday

13. They don't have to eat dinner tonight.

a) quick b) quicker ) quickly d) quickest
14. She has this film.

a) saw b) see C) seeing d) seen
15. Would you like tomorrow?

a) to go out b) going out ) go out d) of go out
16. Sao Paulo has a serious problem — the city does not have safety.

a) many b) very c) much d) none
17. The prices today are than last year.

a) badder b) worse ¢) bad d) worst
18. Luisa’s car is than mine.

a) more fast b) fast c) faster d) fastest

19. To understand this book, we need
a) informations b) an information

20. people are there in Fortaleza today?
a) How much b) How many

For questions 21 to 25, choose the INCORRECT option.
21. a) Marta can drive well.
b) Marta can drive fast.

22. a) This shirt is too very tight.
b) The floor is very wet.

23. a) He doesn't have done his homework.
b) Have you asked the teacher this question?

24. a) Silvia studied in the USA when she was a child.
b) Sophia has studied in New York.

25. a) Thomas likes playing soccer on Sundays.
b) Gustavo would like to visit the zoo next weekend.

¢) more informations  d) more information

c) How d) How often

¢) Marta can drive quickly.
d) Marta can drive slow.

¢) The cars are driving too fast.
d) Isn't this music too noisy?

c) They haven't told me anything.
d) Paulo has played this game before.

¢) Savio has come back from Rio last night.
d) Stela has visited Madrid.

¢) Marina likes reading romantic books.
d) David would like going away for the weekend.

For questions 26 to 30, choose the option which has the same meaning and idea as the sentences in italics.

26. Football is less popular than baseball in the US.
a) Football is more popular than baseball in the US.
b) Baseball is less popular than football in the US.

27. Philip drives his fast car every day.
a) Philip drives fast every day.
b) Philip has a fast car and he drives it every day.

28. Mark has not been to a foreign country.
a) Mark does not go to foreign countries.
b) Mark is not in a foreign country now.

29. My family would like to go to Paris on vacation.
a) My family doesn't like going to Paris on vacation.
b) My family wants to go to Paris on vacation.

30. The supermarket is opposite the new library.
a) The supermarket is round the new library.

c) Baseball is more popular than football in the US.
d) Football is the most popular sport in the US.

¢) Philip is fast every day.
d) Philip drives quickly every day.

¢) Mark never travels.
d) Mark has never traveled to a foreign country.

¢) My family likes going to Paris on vacation.
d) My family loves going to Paris on vacation.

¢) The new library is across from the supermarket.
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b) The supermarket is on the corner of the new library. d) The new library is inside the supermarket.
Answer questions 31 to 40 according to the instructions.
31. Choose the option where the adverb is CORRECTLY spelled.

a) dangerously b) agressivly c) baddly d) fastly
32. Choose the option where all the nouns are countable.
a) apple / movie / game C) rice / sugar / literature
b) furniture / computer / news d) information / tea / education
33. Choose the item in which the -ed sounds of the past tense of all of the verbs are THE SAME.
a) played / studied / tested ¢) watched / called / washed
b) decided / visited / educated d) danced / stayed / looked
34. Choose the option where all the words are in the same vocabulary group.
a) winter / summer / August / Thursday ¢) curious / friendly / smart / shy
b) pineapple / vegetables / fish / moody d) hot / freezing / windy / easy
35. Choose the option with the CORRECT definition.
a) Busy is an adjective of appearance. c) Lunch is a kind of fruit.
b) Warm is the same as snowing. d) Lettuce is a kind of vegetable.
36. Choose the option where the vowels have the same pronunciation as the vowels in the word ‘pear’.
a) peas b) bread c) learn d) steak
37. Choose the option where the underlined consonants have the same pronunciation as in ‘hilarious’.
a) ham b) honest ¢) hour d) shower
38. Choose the option where the letters '-s’/*-es’ at the end of the verb are pronounced as in ‘goes’.
a) watches b) dances c) speaks d) calls
39. Choose the option where all words are CORRECTLY spelled.
a) suny / cold / cloudy c) dishonest / nervous / quiet
b) summer / spring / autum d) onnion / beans / tomato

40. Choose the option in which the underlined word is CORRECTLY used in the following sentences.
a) He teaches too loudly. The students can't hear his voice.
b) They can dance beautifully. Everybody loves to watch them.
c) I want to buy a car quickly because I love to ride the bus in this town.
d) People in Fortaleza drive carefully. That is the reason for lots of accidents.

For questions 41 to 50, fill in the blanks with the appropriate word(s) and mark the CORRECT alternative.

Brazilian * food has been admired around the world lately. The Brazilian chefs know how to cook
“2 and they come up with * dishes. One of their specialties is “baido-de-dois”, which is rice and

beans with * cheese. There are some other * dishes, but * of them is * than “baido-
de-dois”. I *8 to Rio de Janeiro recently and I * taste it in a real Brazilian restaurant. And today,
every time I %0 this country, I have to eat some of this amazing dish.

41. a) typically b) typical c) typic d) very typically

42. a) creatiful b) creative ¢) creatifully d) creatively

43. a) deliciously b) delicious ¢) creamily d) creaming

44, a) many b) a little C) very d) a few

45. a) traditionaly b) traditionally ¢) traditional d) tradition

46. a) many b) none ¢) much d) some

47. a) tastier b) tastiest c) tasty d) taste

48. a) have been b) have gone C) was d) am

49. a) did could b) did can c) could d) canned

50. a) am visit b) visit ¢) have visiting d) visits
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Identifique abaixo sua escolaridade para critério de desempate. A informagdo assinalada abaixo deve ser comprovada na matricula. Leia
atentamente todas as opgOes antes de assinalar a sua. Assinale somente uma opgao (a mais alta que vocé consiga comprovar).

CANDIDATO COM SOMENTE O ENSINO FUNDAMENTAL COMPLETO ] ANO DE CONCLUSAO
CANDIDATO CURSANDO O ENSINO MEDIO 1° ANO | | 2° ANO | | 30 ANO | |
CANDIDATO COM SOMENTE O ENSINO MEDIO COMPLETO ANO DE CONCLUSAO
CANDIDATO ALUNO DE CURSO SEQUENCIAL CURSO SEMESTRE EM CURSO
CANDIDATO COM CURSO SEQUENCIAL CONCLUIDO ANO/SEM DE CONCLUSAO
CANDIDATO CURSANDO 3° GRAU TECNICO CURSO SEMESTRE EM CURSO
CANDIDATO COM CURSO 3° GRAU TECNICO CONCLUIDO ANO/SEM DE CONCLUSAO
CANDIDATO CURSANDO NIVEL SUPERIOR (GRADUAGAO) CURSO SEMESTRE EM CURSO
CANDIDATO COM CURSO DE GRADUAGAO CONCLUIDO ANO/SEM DE CONCLUSAO
CANDIDATO CURSANDO POS GRADUAGAO ESPECIALIZAGAO MESTRADO DOUTORADO SEMESTRE EM CURSO
CANDIDATO COM CURSO DE POS-GRADUAGAO CONCLUIDO ESPECIALIZAGAO MESTRADO DOUTORADO ANO/SEM DE CONCLUSAO
CANDIDATO COM POS-DOUTORADO ANO/SEM DE CONCLUSAO

FOLHA DE RESPOSTAS

** Preencha o quadrado que corresponde a resposta correta de cada item.

01. ] a c [ d 21.Ta b [c F. a
02. | a c d 22. b C d a
03. | a c d 23. b c d a
04. | a b c d 24, | a b ﬁ d a
05. | a b c d 25. | a b c d a
A - INEIEEE 2.1l a | b I ¢ a
7. a | b I d 27. | a d a
0.l a| b | c 28.] a | b | c a
0. a M c | d | 2. | a [ d a
10. | a b c d 30. | a b c d a
1. | a b c d 31. K b c d

12. | v [ c | d 2. EW b | c | d

13. | a b c d 33. | a b c d

14. | a b c d 34. | a b c d

5. 00 b | ¢ | d 35.] a | b d

6. | a | b M d 6. a M c | d

17. | a |0 d 37.0E b | ¢ | d

1. | a | b M d 8.l alb ]| c

19. | a b c d 39. | a b c d

2. a [ c | d 40. | a Y d
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